Annexure for PE# 1/PE171691/1

Annexure - 4

Sl# |Material Description Quantity Unit
1 |SS-316 HEX HEAD BOLT WITH NUT(IN MM THREAD) M6 X 50 LONG 100 No.
2 |[-DO-M8X50LONG 150 No.
3 |-DO-M10X50LONG 150 No.
4 |-DO-M12 X 40 LONG 100 No.
5 |-DO-M12 X 75LONG 100 No.
6 [SS-316 STUD WITH ONE NUT (IN BSW THREAD) M3/8" X 6" LONG 30 No.
7 |-DO- 3/8"X3"LONG 50 No.
8 |-DO- M1/2" X 6" LONG 50 No.
9 |SS-316 STUD WITH ONE NUT (IN MM THREAD) 5/16" X 1.1/4" 50 No.
10 [-DO-3/16"X 1" 50 No.
11 [SS-316 SOCKET HEAD CAP SCREW (IN BSW THREAD) M6 X 50 LONG 100 No.
12 [SS-316 STUD WITH ONE NUT (IN BSW THREAD) M 1/2" X 3.1/4" LONG 200 No.
13 [SS-316 SOCKET HEAD CAP SCREW (IN BSW THREAD) M 8 X 50 LONG 100 No.
14 |-DO-M12 X 75 LONG 100 No.
15 |-DO-M 10X 50 LONG 150 No.
16 [SS-316 STUD WITH ONE NUT (IN MM THREAD) M 8 X 50 LONG 50 No.
17 |-DO-M 10X 50 LONG 50 No.
18 [-DO-M 12 X50 LONG 50 No.

NOTE : TEST CERTIFICATED (FOR CHEMICAL COMPOSITION) SHOULD
BE PROVIDED ALONG WITH SUPPLY. FROM GOVT. APPROVED
LABORATORY.

Praveen Kr.Pal
Addl.Controller(S&P)




